Review for the first exam
Nikos Apostolakis

Disclaimer The following is a set of questions to help you review what we have covered
in class. If you know how to answer these questions then you should do well in the exam.
However there is no guarantee that the questions in the actual exam will be perceived to be
similar to these questions.
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2. Indicate which point in the number line below corresponds to which number.
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9. Evaluate, 1fa——1 b—gandc——ﬁ —6a + 10b — Tc
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10. Evaluate if z = =7 and y = —5: y? — 2, (-5)"- (- ) L’"
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11. Evaluateifa=3,b=—-2,¢c=7,d =2, and z = —1: cax+d (1) ED A2
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12. Evaluate if 2z = 3: x3—4x2+:1:—|—6=(ﬂ"q[ﬂ + (3346 o (=3) t=2) :,-g———m
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14. Evaluate 422 + 42 + 1, when oz = —— -3-4 -3(‘/.;'7‘\?3 u§+;
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15. Evaluate each of the following expressions: @
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16. Evaluate the expression z? T 2zy + 9%, when x = —2 and y = —3. D
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17. Evaluate —2z? + 3z + 4, when:
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(a)$1=—17x2=1,y1=—5,y2=5 ('\‘('l)
(b) 21 ==2,23=3, 1 ==3,pp =4 (&)= (-3) @
() 21 =2, 20=4, y1 =1, yp =2 (2)-(-2)

(2) -0 _ E
(4)-(2)
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18. Evaluate
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d = -2, = -3, = —4, =—6
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=0 =3,y1=5,y2=0 —— = |-
(e) x1 y L2 Y1 Y2 (3 ) - (0) =

19. Evaluate the expression \/m, when: -
(a) a:—2 b:_l c=23 \\l—'UfC'l\('ﬁ) = \/u(—ﬂ,\tg\ ‘{l—‘—ll—} m _‘E
a5 -2g =N —_@

(b) a==3,b=5c==2 5\ 1 (-3)(-2 m -
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20. Evaluate the expression —a? + 3a, when a = 2.

A.10 |B.2] C.-10 D. -2 _(2 2) 4+ 3(2)=- &t 3 (2)=-u+0 =2

21. Evaluate the expression - NG 5_9 -4 4
5— 22 —C = - =5~ 5
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when z = —3.
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22. If x represents an unknown number then seven subtracted from twice that number is
represented by the expression: A. 2(z —7) B. 2(7T—2z) C. 7—-2zx
23. Write a mathematical expression that represents the following phrase:
(a) n more than 19. 19+
(b) x less than 27. 2T =X
(c) 16 less than twice a number. L x - 16 q
(d) 9 divided by the sum of a number and eleven. 37
)
)
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(e) The difference of eleven times a number and five times its square. | x —5X

(f) Six subtracted from three times the sum of twice a number and its cube. 3 ( 1% 4 xl) -6

24. If y represents an unknown number, which expression is a correct translation of the
phrase:

The sum of six times a number and five, divided by eight less than the same
number.

A 30z B 6x + 5 C 6x+5_8 D. 61 + 5)
r—8 8 —=x T 8—=x
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For the following statements indicate whether they are true or false:

a8 (F)=°

1 3
25. Ifa:——éandy—z,then2x+8y——5 44 = -5

A. True [B. False]

1 1
26. If z =3 and y = —2, then 2> + 2y =¢y* —z + 4 LB)—\—Q(’DQ_—(‘Q—\‘L33 + Y
lA. True B. False. o + k2= 4 — (2N + 4

27. If £ = —2 then —2? —2x =0 O\’\’L’UV\" I+ 4
A. True B. False.
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-(4) -a2-2=D

~u+4u4=0
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